FORM FOUR CLUSTER KCSE MODELS
MATHEMATICS PAPER 1 ANSWER

SECTION I (50 Marks)

Answer ALL questions
1. _

l_I; %3 |}z % [5 % 1[]'5:]’1'-5(

(2% x3)4
2 x3x5x107
2% 3
2% 5 10
= — =
3°=100 9=100
1

=
90

la® =% |=(a+ba—b) a=5x—4.b=(=3x—1)
(a+B)a—b) = (5x—4+-3x—(5x—4—(Bx—1)
= (2x—5)(8x—3)

OR

Expand 25x* —40x +16—(9x" +6x +1}

= 16x" —46x+15

= 16x? —6xx—40x+15 =(2x—5)}(8x —3)

l:vaf—:l -c:lx+1
4 Y

—-2=<x

—8aox

lx+1f_ilx+4=lx£?r
2 3 6

i

x=18 —B<-x=<18

Sum of all possible integrals prime no.
ST+-5+-3+-2+2+3+5+7+11+13+17=41

Compiled & supplied by Schools Net Kenya, P.O. Box 15509-00503, Mbagathi — NairobiTel:+254202319748
E-mail: infosnkenya@gmail.com | ORDER ANSWERS ONLINE at www.schoolsnetkenya.com

Page 1


http://www.schoolsnetkenya.com/
http://revision.co.ke/
http://revision.co.ke/
http://revision.co.ke/
http://revision.co.ke/
http://revision.co.ke/
http://revision.co.ke/

13*_131—%=4324512

Let a=13" :>13a—ia=4824612
169

12 70F _ 4824612
a=371293=1%°
13 =371293 =13°

®=3

Translation vector

(—4Y (3} (-7
= ‘ 5)_‘:10) - ‘ 15)

_ —1} (-7
Objﬁfﬁl_})—l 15)

[ 6
=|
k—m)

(6, -18)

yv=3x+4
Gradient =3
v—4
x—2 -

v—4=3x-6

y=3x—2

Sin 3x=sin (90-2x)
Ix=90-2x
5x=90
x=18
Tan 18°

8 £ 3.11,23.33 37.40
Iy —
145420711

o

145+3.75=18.25

g

-

9.
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x+5x=180
x=30

360
N. des = —
) I:'Jf Slaes 30

=11

T2=2x2x2x3x3

54 = 2x2x3x3x3

GCD=2x3=3=18
1818

=324cm’

v -8y+7=0
y—Ty—y+7=0
W=D -1p-7=0

(v-Dy-1)=0
y=1 y=7
7P =7" x=0
7P =7 x=1
5 5
3; will mkei hrs
35 12
12. Lydia’s Rate Dfxw'nrldng=%w per work
Damaris Rate of working = %w per work
Both for 2 hrs work =2 14+ 1£)=244 .
EEEWMI{:I%i
. . 11x5 ; 4 .
Time taken by Damaris = s V=1— hours or 1hr 3429 min
5
13. |
MASS(kg) f fd
15=x<55 16 1
55<x<75 20 10
18 3
135=x<155
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2+

1 1 I
1.5 35 55 7.5 9.5 11.5 135 15.5

|
|

MASS (kg)
14. .
X -3 -2 -1 0 1 2
v 11 |7 3 3 11
;{z%k(sum af Eurs+ 2(sum of middles)
= %x1(11+11+2(?+5+5+?:l
= %[22+2(24]
= lg[mj
=353 square units
15.
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16.

|’i _E“i
1[’4 32 5 5 |
g2 1 2

.5 3)
|’Ei _E“’i
5 5| o5
BRI
L5 3)

(48 33
1 oy xy_| 5 5
|2 1“""_. 1 2l

\" 3 T3

.5 5)

h=5xtan 54°

=6882cm
Cross sec Area

(14x10x6.882)x 5-3.142x3.5

=172.05-38.4895
=133.56 5cm’

=133 .6cm®

SECTION II (50 Marks)

| = o | e

Lh| b2 Uk | Lo

R —

-
-

—

— b3
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Choose any FIVE questions in this section

Distance by the trailer.
=1340 hrs-1123 hrs
(a) Time taken=1hrs 15 mins
Distance =1 14 hrs = 608! hrs
= 3 % 60kom
=T5Iom
(b} Relative speed
=00km/hr-60 km /'hr
=30km/hr
Time taken to overtake
Distance

Relative speed
TSkom

Time=1340
+2hr30
1640 hrs
=430pm

(c) Distance taken bv the Bus before it overtook the tracker
=2 12 s 90kom /! b

= % hirs % 90k hr

(d) Time taken by the bus toreach Nairobi = % hrs

55
=" hrs = 60
18

=183.33/om
=275-18333
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yv=x +6x+1

x |0 1 2 3 4 5
v |1 6 9 10 |9 6 1
Yo 3 y Y3 Ve | ¥ Vs

A= /h (vy + v )+ 200, + 3, + 4 +'L4+'L:|]
{EL)A:AKI[1+1 1+2(6+9+10+9+6)]
=0.5[2+80]
=41 Sq. units
(b) (i) Area= L |-x" +6x+1kx
ZX 3 +Ix+e
3 0
lﬁ |+3[6 |+61 E+3;r:+|:11ﬁ,'
3 3 J
=—?2+1I38+I5
=42 sq.units
Error

(ii) % Error = ———— = 100%
Actual Area

-1 100%
42

=2.38075
= 2.38%(2dp)
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, 4
(2) Bag A & P(Red)= A
= 2
P{vellow)= é
BagB P(Red)= %
P{vellow)= %

Both ball are some colour

P[_% amf%_]:?t% and %]
P[%K %] oF P[%K %J
=Hs+¥s

P(R ovT) = %{

(b) ©) P (RED)

A:%x%:%
Or

=2+ 4o

_4+1
10

-5 1

=%~ N

P(Both balls are red)= %
(i) P{ All four balls are red)

=2 and Y,
:%K%ﬂ
=125

20.
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a) AX = 3?—% 413(:-_3%3?
=936+ Hz¢
AM = 2/ o A'

+=b

U-IJ..
v \0

b) Divide the scalars of b on both AX & AM

ie %+ %3=1%

3L ax =AM

= AX /! AM Share a common pomt A
= A, X, and M are collinear
=AX: XM =58

131
r 4 i al
c) BN -—BX_El /3 13 ) /,':' 3b

=2
-

™
1

-~

t 8
N

AV 2,1
- AC 5
AN-NC=1:4

+2

o

21. A¢10:45=> Bus had done 33/, hrs

13/ %85 =318 75/om
Assume bus had a head start of t hrs.

- car caught up in (3 % - f}sr

:.%:[3%—:)
125 =150
r=l%ﬁv=1ﬁn‘llmﬁ1

Bus had covered 85x V—IDM

Carleft at 8:12am
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b) If carused W hrs to B then bus used (W+1)hr of travel.
= 85(W +1)=125W

W=2%hs

Dis tan ce covered 2™ phase=>2 %KIEE = 265625

S AB=265625+318.75

=584375Iom
I
i—'[:']x %ﬂ'mem carchzl%ﬁzlhr FJmin 48sec
= 1045
030
1.03.48

12.18: 48pm

22.
a) £90° Rotation about (-1,1)

b) Re flectionin y=—x—2

S a
.
n o
N .
b 2
s N
A
\ -

6 O .4 \-vk L3

e
A7(3.5.6) B'(0.5.75) C(-145D"(5.3)

23
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> 6em
M

138%}
. Gem v B

b)BN=4.1cm
CN=43cm
c)AM=59%cm

d) Area= %x 23x59

= 6.785cm’

24.

Original number of parents x
New number of parents x-60

Original contribution per parent 3600000
x
New contribution parent 3600000
x— 60
3600099 _ 900 = 3620990
x—60 -
x* —60x —108000=0
60 £ ./3600+42000
2

x=—=300or 360

x = 360 parents

b) Contribution per parvent
= 360 — 60 =300 parents
= 3600000
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